KFETAIA O HEHHE =

#0024 3A31H B/

PN=]

E R [FHEE 228 233 461 232
R LLIET 158 180 338 170
g1 TH 126 143 269 152
E5E2TH 167 196 363 170
g5H3TH 181 163 344 218
E5E4TH 294 297 591 273
#tET2 T B 94 104 198 119
=T RHE 174 214 388 232
21+ RE1TH 69 90 159 77
21T REI2TH 155 135 290 220
ARET1TH 165 165 330 190
ABERI2TH 33 40 73 41
$2RT1 T H 124 169 293 167
f2ET2 T H 277 327 604 317
$2HT3T H 481 519 1,000 531
g B BT 43 44 87 58
BH/HE1TH 177 222 399 196

K 2946 | 3,241 6,187 3,363

Bl 2 [EXE1TH 46 70 116 65
EXR2TH 100 131 231 126
EXHEISTH 279 276 555 267
EXHW4TH 272 302 574 262
KADHET 582 635 1217 497
A A0 ET 233 277 510 245
B EE 92 95 187 106
H $FHT 41 51 92 62
SRS SFET 63 83 146 82
HHEHT 84 102 186 112
H h T 50 50 100 55
BHT 311 397 708 355
ARAE BT 2 0 2 2
v EH BT 269 313 582 262
HRT1TH 82 108 190 112

BT 2506 2890 5396] 2,610




AR

=]

# o |[MxEI1TH 119 171 290 173
IEET2T B 26 43 69 36
ZRHT 36 51 87 43
15 BT 43 65 108 57
RILHT 53 59 112 65
KT HT 47 57 104 66
k=) 37 31 68 39
TREET1TH 44 52 96 52
TRERT2TH 397 400 797 408
EY=L) 550 517 1,067 471
REHET 372 406 778 350
H AEHET 477 516 993 516
FESH 69 79 148 96
F HT 81 104 185 103
B R HT 45 43 88 55

=1 25 25 50 32
AKHET 43 69 112 72
$2BET1 T B 190 209 399 161
iRBET2TH 219 253 472 224
FRERT3T H 114 142 256 107

.18 2987 3292] 6,279 3,126

B/ 5 |AEE3]H 119 134 253 142
AHERT4 T H 134 159 293 174
ESHT 82 104 186 118
EEH 60 79 139 73
SFHT 46 55 101 46
X#HET1TH 50 41 91 60
X#HT2TH 29 23 52 39
A ET 161 137 298 186
ET1TH 46 69 115 63
S E2TH 47 57 104 75
ERNE 82 93 175 96
S ETATH 79 82 161 78
HET1TH 60 69 129 76
HHET2TH 163 206 369 203
HET3TH 153 149 302 171
1= ET 163 169 332 166
FaAT 93 103 196 100
= JERT 55 59 114 51
E=HHET 149 165 314 149
=AW1TH 204 229 433 215
=AR#2TH 285 308 593 289
=AR#3TH 237 311 548 256
=AR#4TH 190 209 399 187

& 2687 3010] 5697] 3,013




AR

T T |[EyiE 8 4 12 12
Ey51TH 530 595 1,125 522
ErE2TH 398 425 823 408
E~B3TH 352 375 727 346
Eri54TH 497 508 1,005 463
E~IB5TH 247 302 549 241
ErIE6TH 420 477 897 464
Ey57TH 340 370 710 389
B~ I8 TH 228 275 503 228
B~ 59T H 494 566 1,060 463
F#%1TH 150 179 329 149
+##%2TH 220 280 500 243
+F#%#%3TH 195 292 487 293
+F##%4TH 284 350 634 252
+F#%#%5TH 257 311 568 284
+F#%#%6TH 392 404 796 326
+F#%#%7TH 130 156 286 135
+#%#%8TH 73 90 163 87
T 862 915 1,777 811

BT 6,077 6,874 12951 6,116

¥ E (EE1TH 99 102 201 91
HE2TH 262 323 585 256
HE3TH 267 262 529 215
HEA4TH 234 274 508 213
HESTH 211 262 473 205
HE6TH 128 143 271 124
HE7TH 106 83 189 72
BEF 81 94 175 72
FE1TH 248 306 554 265
FhE2TH 302 364 666 299

SFHE1TH 353 373 726 259
BHESHM2TH 240 263 503 186
BHEFHEISTH 317 342 659 248
BHESHM4A4TH 193 197 390 177

SFHEISTH 189 192 381 150
HEMI1TH 170 216 386 183
EEF2TH 38 29 67 28

BT 3438 3825] 7,263] 3,043




PN=]

m xE [m=H 4544 4732 9,276 4371
Al % 2202 | 2419 4621 2,034
.13 6,746 | 7,151 | 13,897 ] 6,405

8 &£ |[L@&k 661 752 | 1,413 537
+#EE1TH 79 110 189 85
L#EHE2TH 343 394 737 341
+$#EE3TH 485 573 1,058 506
L#EHATH 119 123 242 121
+#EE5TH 248 290 538 261
+{E/R6TH 290 322 612 312
+#ER7TH 282 298 580 275
E41TH 86 92 178 74
E42TH 16 36 52 44
E43TH 374 418 792 344
EEATH 165 183 348 161
E4E5TH 601 726 1,327 640
EE6TH 172 209 381 184
BEEHFEHITH 135 169 304 177
BEXFHEH2TH 364 374 738 389
E4XFHA3TH 419 429 848 384
BEEER1TH 317 357 674 355
BEHEER2TH 378 429 807 399
BE4EERR3TH 89 76 165 113
BHEERATH 286 291 577 391
= 5909 6,651 ] 12560 ] 6,093




AR

ih X BT 44 = =
3 x 5

& X [EfRlR1TH 161 196 357 180
BHiEEHE2TH 174 195 369 201
HERE3TH 158 205 363 181
BHiERE4TH 256 278 534 248
HERE5TH 295 327 622 270
H{EERE6TH 367 399 766 327
HER7TH 465 508 973 439
H{EHESTH 499 543 1,042 488
FatEER 24 21 45 28
FEtERE1TH 105 118 223 94
FEER2TH 119 141 260 136
FafER3TH 290 296 586 269
FHfER4TH 349 396 745 328
FEfER5TH 371 369 740 322
AfE/E6TH 472 467 939 455
FER7TH 422 447 869 390
FE{ER8TH 567 677 1,244 566
FAER9TH 466 564 1,030 434
¥ = 77 93 170 77
KE1TH 477 566 1,043 511
*E2TH 130 180 310 155
*XE3TH 241 267 508 235
*E4TH 295 330 625 291
*XE5TH 118 141 259 126
*E6TH 313 351 664 309
KE7TH 353 395 748 389
*E8TH 564 627 1,191 533
EECREE] 122 119 241 102
¥$B1TH 289 295 584 343
#FHEH2TH 462 452 914 402
FESTH 177 214 391 181
#FEH4TH 182 182 364 180
#FES5TH 276 310 586 213
#EA6 T H 331 311 642 317
#HEA7 T B 524 528 1,052 447
BT 10,491 ] 11,508 | 21,999 | 10,167




AR

iﬂE ET% % # E ﬁﬁ
EFA |18 1,021 1,081 2,102 871
N 189 222 411 168

E&i 237 251 488 193

- F 1447 1554 3,001 1,232

N S 172 179 351 141
&= 67 71 138 46

TZEE 41 39 80 28

EA 87 86 173 67

Al FL 63 67 130 55

ER 304 333 637 266

Rz 35 42 77 30

SN 1,162 1,396 | 2558 1,198

B 1,931 2213 4144 1,831

B £ |BH# 405 475 880 446
EEN 279 299 578 227

= 266 296 562 281

= 281 330 611 272

= 190 180 370 143

i 132 152 284 122

== 153 176 329 155

A 107 119 226 114

=Xzl 52 65 117 48

Enin 92 104 196 80

- F 1957 2196 4,153] 1,888

E & |[E4RH 2,171 2417 4588 1,954
K 2171 2417] 4588 1,954

7 ZE | XiF 970 1,090 | 2,060 935
EES 375 391 766 323

BT 1,345 1,481 2,826 1,258

RE=ZE | KB 962 | 1,033[ 1,995 868
B 962 1,033] 1,995 868

M H [FIHHE 1,174 1294 2468 1,120
.11 1,174 1,294 | 2,468 1,120




PN=]

E &t |E&H 24231 2613 5036 2064
B 2423] 2613] 5036 2,064

® R [KEH 2238 | 2448| 4686] 2028
B 2238 2448 4686 2028

B [ 662 676 1,338 491
SER 170 211 381 151

—ARK 248 210 458 224

HE v 237 249 486 205

EE 136 149 285 110

=[] 219 242 461 200

FRamAT 0 0 0 0

K 1672] 1,737 3409] 1,381

= B [—& 83 157 240 144
LFTEN 97 104 201 84

F=HF 102 105 207 81

TFRED 157 189 346 124

heT 348 349 697 262

= 66 75 141 53

I\ 115 111 226 91

KE 35 39 74 31

B 1003] 1,129 2,132 870

B i [Es 1,058 1,153 2,211 910
R 151 181 332 152

= 204 214 418 171

T8 98 114 212 83

HF 165 183 348 131

B INFF 63 62 125 48

1258 369 412 781 340

3] [ 1200 1.268] 2468 920

BT 3308] 3587 6,895] 2755




AR

e L [EIESE 306 326 632 232
e T BT T 681 855 1,536 664
v T ETPE R 753 788 1,541 589
e L BT 42 ] 95 93 188 73
e IETRE S 110 107 217 70
IR S HA 46 47 93 28
e TETRFRE 63 63 126 44
IR ARE 45 40 85 31
T IETFRER 54 59 113 38
EIIREE 41 52 93 29
e LET4E 25 28 53 15
T LRI {258 43 45 88 37
€ ;T BT S ] 50 54 104 34
LRI {&EBE 1,698 1,789 3,487 1,493
e T BT P e 271 290 561 233
SESTRT/INE 289 336 625 255

.18 4570 | 4972] 9542] 3865
AR -
BEt 5 = it ™
69,988] 77,116] 147,104] 67,050




K FhFEAl A OBER
SF 24 3A318 {/E

A A
A 3 % i

0 & 619 570 1189
1 693 561 1254
2 670 610 1280
3 684 613 1297
4 681 662 1343
5 652 645 1297
6 674 704 1378
7 654 626 1280
8 656 685 1341
9 676 622 1298
10 683 692 1375
11 675 617 1292
12 700 706 1406
13 659 623 1282
14 675 683 1358
15 715 704 1419
16 743 673 1416
17 713 721 1434
18 727 640 1367
19 725 722 1447
20 706 699 1405
21 703 687 1390
22 651 607 1258
23 675 649 1324
24 632 629 1261
25 675 723 1398
26 614 708 1322
27 692 726 1418
28 674 685 1359
29 708 703 1411
30 726 707 1433
31 739 745 1484
32 725 743 1468
33 802 762 1564
34 825 833 1658
35 843 807 1650
36 913 872 1785
37 898 890 1788
38 889 942 1831
39 841 947 1788
40 1003 949 1952
41 973 972 1945
42 977 1015 1992
43 1074 1011 2085
44 1082 1077 2159
45 1131 1096 2227
46 1160 1121 2281
47 1136 1198 2334
48 1146 1090 2236
49 1031 1007 2038
50 1019 958 1977
51 958 980 1938
52 897 976 1873
53 771 862 1633
54 865 858 1723
55 846 918 1764



56 800 872 1672
57 824 918 1742
58 813 866 1679
59 821 866 1687
60 827 882 1709
61 903 912 1815
62 838 892 1730
63 844 890 1734
64 884 943 1827
65 906 919 1825
66 933 1019 1952
67 880 1041 1921
68 942 1051 1993
69 1022 1157 2179
70 1032 1285 2317
71 1131 1291 2422
72 1154 1304 2458
73 906 1058 1964
74 616 760 1376
75 763 938 1701
76 739 965 1704
77 678 932 1610
78 680 857 1537
79 623 875 1498
80 511 777 1288
81 464 700 1164
82 533 795 1328
83 483 756 1239
84 460 695 1155
85 372 648 1020
86 337 637 974
87 319 598 917
88 246 575 821
89 239 542 781
90 177 465 642
91 184 447 631
92 116 390 506
93 79 295 374
94 72 287 359
95 64 192 256
96 39 181 220
97 25 124 149
98 17 84 101
99 7 77 84
1007% LL E 11 127 138
Eil 69,988 77,116 147,104
FEHX 5 g8 8 o
15mKRiE 10,051 9,619 19,670
15/ ~641% 42177 42,653 84,830
65k LI E 17,760 24,844 42,604
Bl 69,988 77,116 147,104




